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QUESTION 1

What are three common problems for administrators when managing application with network security models that are
not virtualized? (Choose three.) 

A. Lack of Interoperability and automation creates error-prone manual work. 

B. Integration of third-party security products with home products is not possible. 

C. Deploying and managing third-party security products become difficult. 

D. Load balancing by vMotion is not possible. 

E. There is limited visibility into a workload\\'s security posture and policies. 

Correct Answer: ACE 

 

QUESTION 2

A security policy is a collection of security services of firewall rules, or both. Which security service is applied to virtual
machines to ensure data security? 

A. Virtual machine 

B. Guest Introspection 

C. Network Introspection 

D. SpoofGuard 

Correct Answer: B 

 

QUESTION 3

Which three statements are true about NSX Distributed Firewall? (Choose three.) 

A. ft provides East-West stateful Layer 2 - Layer 4 firewall 

B. it allows you to create access control policies based on VMware vCenter Server objects 

C. such as data centers and clustersDC ft works as perimeter security firewall. 

D. It provides North-South stateful Layer 3 - Layer 4 firewall. 

E. It is virtualization-aware firewall. 

Correct Answer: ABE 

 

QUESTION 4
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How do virtual networks that are natively isolated from each other provide support for overlapping IP address in a multi-
tenant environment? 

A. By enabling isolation without using access control lists and firewall rules. 

B. By enabling isolation with the help of Active Directory (AD). 

C. By employing the spanning tree protocol. 

D. By implementing load balancing. 

Correct Answer: A 

 

QUESTION 5

What does a Layer 3 VPN service, which is used by a remote client, use to leverage SSL tunnels to 

securely connect to private networks behind an Edge Gateway? 

A. SSL VPN-Edge services 

B. SSL VPN-Gateway services 

C. SSL VPN-Core services 

D. SSL VPN-Core services 

Correct Answer: A 
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